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1. Þ nÍ¦�^2w
 rÍ»���� Xi = 1, uÏ iÍ»�ÎèÝ, ÍJ Xi =

0, i = 1, · · · , r�

(i) �O E(Xi)�

(ii) E i 6= j, �O E(XiXj)�

(iii) � Sr�è»�Ýóê, �O E(Sr)C Var(Sr)�

2. ' Xb N (0, 1)5µ, �Y = eX
�

(i) �O Y�p.d.f.�

(ii) �O E(Y n), n ≥ 1�

(iii) �J E(etY )�D3, ∀t > 0�

(iv) �Ü×ã��Xb�-, ¬P°X�5µ�»�

3. ' X1, X2, X3
 i.i.d.� U(0, 1) r.v.’s, �Y1 ≤ Y2 ≤ Y3�X1, X2, X3�5�Ù�

���O�� Y2 = y, 0 < y < 1, Y1, Y3 �Ð) p.d.f., ¬�Jh@
× p.d.f.�

4. ' X, Y
Þ}ñÝ r.v.’s, 5½b E(λ1)CE(λ2)5µ, �Z = min{X, Y }��O
�� Z = X, X�f�5µCf��TÂ�

5. ' Xb Γ(p, λ)5µ, p ≤ 1, Í p.d.f.| f����J

(i) f(x) =
∫∞

0
gλ(y)ye−yxdy, Í�

gλ(y) =

{
(λy−1)−p

yΓ(1−p)Γ(p)
, λy ≥ 1,

0 , λy < 1;

(ii) gλ(y)
× p.d.f., ∀λ > 0�


